Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER — 1(CtoD) New — EXAMINATION — Winter-2023

Subject Code: C4300006 Date: 23-01-2024
Subject Name: Engineering Chemistry
Time: 10:30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of non-programmable scientific calculator is permitted.
6. English version is authentic.
No.  Question Text and Option. W&l sl (dSE).
The Chemical bond formed by transfer of electron is called
1. A. Metallic bond B. Covalent bond
C. Hydrogen bond D. lonic bond
8a52le Juldd(el weddl ot 5& 8.
1. A ylfdasoiy B. & dAlws iy
C. &losloysl viy D.  wl[As0iy
Select inert gas from the below list.
2. A. Hydrogen B. Oxygen
C. Helium D. Chlorine
oflAst1 e ief] [o1vs iy urie 5.
A Elpslue B.  ulslowel
C. [(edlun D.  seldl
A well defined circular path around the nucleus in which electrons revolve is
3 called :
" A. Orbit B.  Orbital
C. Neutron D. Proton
URH Lot Fogef] u196041% o1l ddorlsi HIoL 3 BHL 8A52\d URMHEL 53 8 de
3 58 8.
A séll B. 5&5
C. 2l D. el
The strength of cement concrete is due to :
4. A. Hydrogen bond B. Covalent bond
C. lonic bond D. Metallic bond
Rz slesle witell SR Huid Sy B.
¥, A sloslael oy B. yllcasoiy
C. W[5 uiy D. & dUlwsoiy
“The electrons fill subshells of lowest available energy , then fill subshells of higher
energy” This statement is well understood by .
5. A. Pauli’s Exclusion principle B.  Aufbau rule
C. Hund’s rule of maximum D. Newton’s law
multiplicity _
u “YRH QM 2861 8A52)et AlueiH w1e] 2A(Sddol] seisIHi eiaL uedl o Gl

U(sddlouil selslHi MUY B” w1 [iegid GlRL U ] L) B.
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10.

q0.

11.

19.

12.

.

13.

13.

A. Uldls) (A3l Riggid B.  WIGsWIG <l [y

C. &Sell HedH ARIsdlell [«un D.  o2elell (iU
One gram- equivalent of solute dissolved in one litre of the solution is called

A. Molarity B. Molality
C. Ppm D.  Normality
WS UM dRULN dLddl Uslela 22110l 05 efler ¢ldl Weilddl teldl ¢ldRla
589,

A. Y4iRlel B. uldl¢ldl
C. ylylxy D.  {UHIQdL
Which of the following compound has polar character?

A. H2 B. CI2

C. 02 D. HCl

o1 w4106 usleHiell Al uslel yola ceie u1d 87
A. H2 B. «CI2

C. 02 D. HCl

In which type of crystal structure one atom is arranged at each corner and one at the
centre of the cube?

A. FCC B. HCP

C. BCC D.  All of the above

SULUSRaAL 35[250il Aloa il tletell €35 BRI GU S W s UML) &lU B

o W5 U1 ol of] WA HeqH i eld B ?

A. FCC B. HCP

C. BCC D.  GUell iyl

Value of pH of acidic solution is generally .

A. Below7 B. Above7

C. 7 D.  None of the above

A5 ¢laQieil pH UM Tld s1y 8.

A 74l <1) B. 7dlGWR

C. 7 D.  Gurlldauiel x1s uglifs.
NaOH is which type of electrolyte?

A. Weak B.  Strong

C. BothAandB D.  None of the above

NaOH 54l Us12¢il [dyd [deilo 87

A [doio B. uwo

C. AudBud D.  GuwulddHigl Asugieifs.
pH of 0.001 M HCI solution is .

A 7 B. 10

C. 3 D. 14

HCI <11 0.009M ¢ld8le{l pH 2}

A 9 B. 9o

C. 3 D. 19y

pH is defined as the negative logarithm of ion concentration(mole/liter).
A. Agd’ B. H30"

C. OH D. Pb*

Y ¢laQHi &4l W Aetef] Aicdl (Hld/dleR)etl Rl 4gylsal ¢lagleil
pH 5¢€ 8.

A. Agd’ B. H30*

C. OH D. Pb*

Electrochemical cell converts into electrical energy.

A. Mechanical energy B.  Wind energy

C. Chemical energy D. All of the above

[ayd 4120818 sl of (A8 Gost Hi 2Uid2 53 D.
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14.

9%.

15.

.

16.

1s.

17.

19.

18.

1c.

19.

20.

0,

21.

1.

22.

A. Yi[As Gl B. Ude G

C. RAIUUGCLS G D. Gurellwle
pH + pOH = .
A. 10 B. 7
C. 5 D. 14
pH + pOH = .
A. 9o B. ©
C. y D. 9%
The buffer solution of a mixture of NHsOH and NH4Cl is called
A. Basic buffer solution B.  Acidic buffer solution
C. Neutral buffer solution D.  None of the above
NHsOH el NHaClotl (H81Q18]] Waldl :482 ¢lalal 58 9.
A. Qs 6452 ¢laQl B. AlSls ws glanl
C. deelu§ ¢lanl D. Gusdguiel Asug«ifs.
Electrode potential of standard hydrogen electrode at 25°C is \
A. 0.0 B. 7
C. 35 D. 14
25°C dlUHlal UHI[BId e19S1set Ydoil §asels Uledludefldey v ely 8.
A. 0.0 B. 9
C. 3y D. 9y
1 Faraday = coulomb
A. 95600 B. 96000
C. 96500 D. 95000
1US=__ sy
A. (\J<goo B. (%oo00
C. (<Yoo D. (¢Yooo
Select Acidic buffer solution from the below given mixtures of solutions.
A. CH3COONa + NHA4CI B. CH3COOH + CH3COONa
C. NH40H +CH3COOH D. NH40H + NH4CI
o{13 w0 glariHiel WALSLs LR Lokl uie ue s,
A. CH3COONa + NH4CI B. CH3COOH + CH3COONa
C. NH40OH +CH3COOH D. NH40H + NH4CI
Sugar and glycerine are the type of substances.
A. Semi conductors B.  Week electrolytes
C. Strong electrolytes D. Non electrolytes
Wi WA X{lARAW _ UsR el uelel .
A. wd dlss B. [ (Ayd (detlert
C. Uy [ayd ([qeilot D. [dyd w[deton
used to get the exact value of pH for the given solution.
A. Universal indicator method B.  pH paper method
C. pH meter method D.  Litmus papers method
WG] LAl UL pHef ALSSU Y& 2Qld L Ul dupY 8.
A Yfatdd yus usg(d B.  pHUUR Ug[d
C. pHHleuyld D. dledydur uegld
Corrosion of metal is due to process.
A. Reduction B.  Oxidation
C. Saponification D. Hydrolysis
tlde] &lRQl U, [dal A1) 8.
A [RssQlst B.  As2ilSeled
C. Ulysilsl D. v [qeiloel
Protective coating of on Iron is called Galvanizing.
A. Copper B. Zinc
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W,

23.

R3.

24,

Y.

25.

Y,

26.

SA

27.

9.

28.

L.

29.

e

30.

3o,

(o)

C. Silver D. Tin
luis GuR s, Us usldq dsl Aedsile (591 5& .

A. diy B. s

C. il D. ¢l

The metal in solution having more corrosion.

A. Acidic B.  Neutral

C. Basic D.  None of the above

tlde] GlARM &RQL YR A B,

A Als)s B. dew

C. A»s D.  Guxlldayiel A5yl «ifs.
In tinning metal used as a protective coating on iron.

A. Ag B. Si

C. Sn D. Mg

Sloflot ulsA Ml dluis U &GS US USIdd I HIe _ dlidell GUAlaL Iy &
A. Ag B. Si

C. Sn D. Mg

From the below given method which is used to decrease corrosion?

A. Dehumidification B.  Modify properties of metals

C. Use of inhibitors D. All the above

o1 241U GUIL Hiell &1Re1 telsdl sdl GULl efl?

A QoA g2 53l B.  dldstl o laH] yuila

C. [Ausldluzla D.  GURell Wyl %

Select formula of iron rust from following .

A. FeSO4 B. FeS

C. Fe D. Fe203

o[ Aei| Hiell Aluisell sleo Yo ude 52U

A. FeSOq4 B. FeS

C. Fe D. Fe203

Base metal is coated both side by rollers in method of coating.

A. Metal spraying B.  Metal cladding

C. Galvanizing D. Tinning

Wo 2 tld A A AR GIRL 6 W1 A&d US USlddls{l Ugg(dal 58 D.
A Hed Wl B. ed sqslal

C. dledqils(5h01 D. Zlsla

In Sheradizing method at what temperature the iron articles get coated with zinc dust.
A. 350-450°C B. 1000-1200 °C

C. 50-60 °C D. 1400-1500 °C

[RIISLEAToL UlsuIHi dluised] «ils] Alosdaq ] UR HAlse] us 526l dluia
YalddHiH1d 87

A. 350-450°C B. 1000-1200 °C

C. 50-60°C D. 1400-1500 °C

Major gas found in L.P.G is .

A. Metahne B. Pentane

C. Butane D. Octane

L.P.G Hi Yuy dly w414l €1y 8.

A (1o B. Usd

C. oeq D. lseel

A coal contain maximum percentage of carbon is :

A. Anthracite B. Lignite

C. Bituminous D. Peat
S\A M s1odste] uHLeL Alefl auR 1y 8.

A WYL B. [dalge

C. oflgHlety D. e

4/9



31.

39

32.

3R,

33.

33.

34.

3¥.

35.

34.

36.

3%.

37.

39.

38.

3¢.

39.

Is measure by using Bomb Calorimeter.

A. Temperature B.  Calorific value

C. Volume D. pH

W3] HleR gl Hidlasiy 8

A dlUHLe B. Guluyxy

C. s¢ D. pH

During fractional distillation of petroleum which material is first removed?
A. Gases B.  Kerosene

C. Tar D. Diesel

Qaleluue] ([Qetiofly flRiest s2dl «{lAstiHie]l 53 AlueH HA B?
A, diyull B. 5l

C. SIHR D. Sl»d

Coke is fuel.

A. Liquid B. Gaseous

C. Solid D.  None of these

sls WAdQl 8.

A ydiél B. A

C. ¢d D. Gunigll Nsuwleife
1 kcal = cal

A. 100 B. 10

C. 1000 D. 500

151563l = a3l

A. 100 B. 10

C. 1000 D. 500

Gross calorific value is than net calorific value of a fuel.
A. More B. Lessor More

C. Lessand More D. Less

WALl Alv | GW{lU Y& 5L §6 Guily Y&y ey 8.
A. duR B. lyuadiaur

C. wlyudqur D.  ly

Power alcohol contain mixture of

A. 70-75% methyl alcohol + Petrol B.  70-75% ethyl alcohol + Diesel

C. 20-25% methyl alcohol + Diesel D. 20-25% ethyl alcohol + Petrol

UldR ¥(esleld Ui EER T2

A. 70-75% Hla1659 v lesleld + B.  70-75% 99164 [c5l8ld + Slnd
ueld

C. 20-25% Hlald wlesleld + D. 20-25% Sald wlesleld +U2ld
slnd

Which of the following substance is mixed with L.P.G.to get odour to it?

A. Ethane B.  Mercaptans

C. Octane D. Pentane

o[ Aot Hiefl sUL Ay L.P.G. Ui VI USR] dld Ul GRRAIMi 11 B ?

A. 69 B. M5y

C. w52 D. Uoel

1B.T.U = cal

A. 500 B. 252

C. 1000 D. 100

106{l.ElY = 3],

A. \oo B. U

C. 9qooo0 D. 9qoo0

coal type has highest calorific value.
A. Peat B.  Lignite

5/9



N

3e.

40.

¥o.

41.

1.

42,

¥R,

43.

¥3.

44,

Y.

45,

.

46.

Y.

47.

¥9.

C. Anthracite D. Bituminous
UsIRell S\auIdi Guly Yey dlell quR Slu 8.

A \le B. [dalge

C. WAL D.  oilgylsin

Ash content increases , the calorific value of coal

A. Decreases B. increases

C. not affected D.  None of the above

SlAA M AW UHIRL BH BH dD AU dej G{lu Y&t B

A ee B. dy

C. wWURUR (S D.  Guniel Asywleifs

is used to determine Viscosity of lubricating oil.

A. Red wood viscometer B. pH meter

C. Thermometer D.  Flash point Apparatus
GRSl Reldtdl HiudHi 1d 8.

A. 3595 [aslle: B. pHHuleR

C. e D. &2 Ulge2 AUy

The temperature at which the liquid lubricant no longer flow is called

A. Cloud point B.  Flash point

C. Pour point D.  Fire point

% dluHla YdlEl 2aes ol e Ulddl sl s d diutlela 58 8.

A. dlen [oig B. ®5sll(ofg

C. dl(vig D. 4191 [oig

Select solid lubricant from below list.

A. Vegetable Oils B.  Graphite

C. Grease D. Mineral oils

o1 W eyl gl les ue s,

A deyfd dg B. Js162

C. 3l D.  welesdd

The milligrams of KOH required to make 1 gram oil into soap is called

A. Emulsification number B.  Neutralization number

C. Basic number D.  Saponification number

QAN Ad Uil AUl vletlddl HIE eI KOH il HdlAH A ddsdl 58 8.

Ayl 501 uis B. deell s uis

C. AAlsuis D.  AlWsLAis

Unit of viscosity is

A. Newton per meter B. Poise

C. Milligram D. Ohm

[Retoticllof] 2151 8.

A. Ry YR B. uld»

C. [mdlum D. sy

Grease and Vaseline are type of lubricants.

A. Liquid B. Solid

C. Semi-solid D. Gas

QAo 2 AL UsIRetl elesl 8.

A. ydqlel B. o

C. ut-gof D. 3y

The flash point of a liquid fuel is measured by :

A. Pensky Marten apparatus B.  Thermometer

C. Redwood viscometer D. Refractometer

Udlel Wondls] ®sisl [oig elludl vl qupY 8.

A Vo sl H12Tot At B. aleR

C. 3595 [dwslHlerR D. ssldler
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48.

¥C.

49,

¥e.

50.

51.

CAR

52.

YR,

53.

3.

54.

uy.

55.

yu,

56.

Us,

The mixture of water and oil is called

A. Viscosity B. Acid value
C. Buffer solution D. Emulsion
ULl 4a ddetl Bl 5& 9.
A [Retdtdl B.  4ls s
C. & ¢laal D. Jry
Polyethylene is polymer.
A. Cross-linked B. Linear
C. Branched D.  None of the above
yldleeflelt el 8.
A uidr uifdd B. uily
C. Quuily D. Gunidl Asuwleifs
Select monomer of Teflon from below given list.
A. Tetrafluoro ethylene B.  Vinyl Chloride
C. Vinyl cyanide D. Ethylene
o1 2 1Ud| dleHiel 2selotell HlellHR e 521,
A. 2215411 Selldle B. [ds18d s6lR16S
C. [aelled ULSe1lSS D.  &eldlot

is the name of monomer of natural rubber.
A. Vinyl Chloride B. Isoprene
C. Propylene D. Butadiene
56| 4Rl HlellHRe] ol 1M 2}
A [Asl1654 sARISS B. ANl
C. ulldle D.  u2lSleel
The structure of ethylene is
A. CHs-CH=CH2 B. CH3-CH3
C. CH2=CH2 D. CHs
geldlstsf oit 12l 8.
A. CHs3-CH=CH2 B. CH3 -CH3
C. CH2=CH2 D. CHs
Give the name of monomer of Orlon.
A. Isoprene B. Butadiene
C. Vinyl Cyanide D. Vinyl Chloride
WG \elol | HlotlHRef ot 1M 31U,
A w15 B. w2lSleel
C. [(dellESe ULE-LESS D.  [deil8d sAlRUES
Select co-polymer from below given option.
A. Polypropylene B.  Nylon-6,6
C. Polystyrene D. Polyethylene
o{1Q A0 Hiell Asuigees Ue s2U.
A. Uldlulgls B. <l4dld-6,6
C. uldleiuile D. uldl¢eildls

is made by polymerisation of Bisphenol-A and Epichlorohydrin.

A. Bakelite B.  Polystyrene
C. Nylon D. Epoxy resin
ol §leld-A wA AU sARASIS (5ot oll vstlesdlefl Wetdluelelad & 9.
A d3ql8e B. uldleiudl
C. olluqlel D.  Aulefl 35l
Phenol and formaldehyde are monomers of .
A. Bakelite B. Nylon-6,6
C. Orlon D. Polystyrene

slold 34 slulaslelss WgeRSell HlslHR 8.
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S7.

Yo.

58.

Yc.

59.

60.

<0,

61.

%1

62.

X

63.

3.

64.

<%.

65.

A. d3dige B.  <ll46lel-6,6
C. Rqlet D.  ldleuiled
is used in vulcanisation of rubber.
A. Phosphorous B.  Sulphur
C. Iron D. Phenol
R0ReA] ACEe 5D UM ol GUloL YL B,
A sl B. e
C. dluis D. sldla
Which polymer is formed by condensation polymerization?
A. Polystyrene B.  Polypropylene
C. Nylon-6,6 D. Polyethylene
53 ulgtes Utlolol WSt Sdl IR Ual 87?
A Jldle Rl B.  ulelulylele
C. olludldi-6,6 D. uldleeildls
Monomer of polystyrene is
A. Vinyl cyanide B. Butadiene
C. Styrene D. Propylene
R U etell HleAlHR 8.
A. (del199 AIFelLES B.  welISl¥el
C. R D.  vlyldle
Melamine is a polymer.
A. Elastomer B.  Thermoplastic
C. Thermosetting D.  None of the above
Ne H1el 2 WetRs B.
A 0 B. dluysHy
C. diuellfud D.  GunigdlAsywlefs
F2C = CF2 is a monomer of polymer.
A. Nylon-6,6 B. Teflon
C. Polystyrene D. Orlon
F2C=CF2 ¥ MR ol HleAlHR B
A. <ludlsi-6,6 B. 25dldd
C. uldleluil D.  ARqled
The Full name of PVC is .
A. Poly vinyl Calcium B.  Poly vinyl Copper
C. Poly vinyl Carbon D.  Poly vinyl Chloride
PVCoydeld__ 8.
A. Uldl(asilsg de{luy B. Uldl{d«18d slu
C. Wdl([dst1854 slofel D.  ldl(dei6d sqlRISS
Cathode part of dry cell is
A. MnO2 B. NH4CI
C. NH3 D. Carbon
SETER 3els dilyad 9.
A. MnO2 B. NH4cCl
C. NH3 D. slole
Which type of material is used in solar cell?
A. Semi-conductor B.  Conductor
C. Insulator D. None of the above
AR SINH sULUSIRe HEllMd qupAA B
A ud-dles B. dles
C. wdles D.  Gunigl Asywleifs
Potential of dry cell is :
A. 1.2volt B. 1.9volt
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Su.

66.

S5,

67.

0.

68.

<C.

69.

gC.

70.

C. 15volt D. 2volt

sl s ol Uleeilmg ey 8.
A 1.2dle B. 19dle
C. 15dle D. 2dle
The cell which converts into electrical energy is called solar cell.
A. Wind energy B.  Solar energy
C. Chemical energy D.  Water energy
of (Ayd Gol xUidR 5l SINa Al SN 5& 8.
A. Udd God B. ARG
C. RAUUMBLS G D.  uiefl Gl
Dry cell is first prepared by
A. Newton B. Leclanche
C. Arrhenius D. Daniel
sl SN fluay A ofel e &l
A 2e B. dsdey
C. wl&flwy D. 3{lug
The working efficiency of a solar cell is generally
A. 15%-20% B. 50% - 60%
C. 40% -50% D. 70%-80%
Al Ad AR sl s1efdl Sl B
A. 15%-20% B. 50%-60%
C. 40% -50% D. 70%-80%
is the example of Primary cell.
A. Nickel-Cadmium cell B. Lead storage cell
C. DryCell D. Fuel cell
A Ulfs slusg Gelel 8.
A [Ase-3sMuH Ag B. dsdales sy
C. yslsly D. «0dyl sy
The potential of Ni-Cd cell is volt.
A. 25 B. 24
C. 00 D. 14
Ni-Cd $\Neil Ul2eR{ld el 8.
A. 25 B. 24
C. 0.0 D. 14
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